
 
 
 
 
 
 
 
 

Free Rms Mock Test 

 
Direction (Q. No. 1 to 5) 

 

 
           There are a great 
million many fish in the sea, 
but this story is about just 
one of them and a very small 
one at that. Now, this little 
fish had everything in the sea 
to make him contended, but 
he was not happy. You will 
laugh when I tell you why he 
was not. He was unhappy 
because he was very small. 
 
1. How many fish ware  there 
in the sea? 
a) Thousand fish  
b) Billion fish 
c) Million fish   
d) Lakh fish 
 
2. Where did the fish live? 
a) In the pond b) In the sea 
c) In the river d) In the tub 
 
3. Who was unhappy? 
a) Fish  b) Mouse 
c) Cat  d) Lizard 

4. This story is about 
just……… 
a) Two of them   
b) One of them 
c) Three of them  
d) Many of them 
 
5. What did the little fish 
have in the sea? 
a) Something b) Nothing 
c) Everything d) Anything 
 
6. Choose the Synonyms of 
the Accumulate 
a) Scatter    b) collect   
c) fortune   d) Praise 
 
7. Find the correctly spelt 
word 
a) Jubille      b) Jubile     
c) Jubilee  d) Jubillee  
 
8.  The boy lost money but 
______ helped him 
a) everything   b) something  
c) nobody  d) much 
 
9. ______ is injurious to health  
a) Smoke  b) Smoking   
c) Smokes  d) Smoked 
 
10. I have been excused 
________ attending the classes 
till I recover. 
a) for       b) to       
c) from        d) of  
 

11. Saritha does not believe 
_______ God 
a) with        b) of       
c) in         d) at 
 
12. You must start at once: 
________ you will be late. 
a) whereas    b) otherwise    
c) as long as   d) none of 
these 
 
13. January is _______ first 
month of the year 
a) an      b) a       
c) the      d) no article 
 
14. They are going home 
from school____ 
a) Have n’t they?  
b) Are n’t they? 
c) Had they?   
d) Could they? 
  
15. I am rich. 
a) am n’t I   b) are n’t I?    
c) am I?  d) do I? 
 
16. Medical examination of a 
dead body___ 
a) Surgery     
b) Operation     
c) Post – mortem 
d) Ghost 
 
 
 
 

English Language 

Read the passage given below 
and answer the questions that 
follow. 

            Passage:  



 
 
 
 
 
 
 
 

Free Rms Mock Test 

17. Which word rhymes like 
tune? 
a) food      
b) noon     
c) too      
d) None of these   
 
18. My father is a bookworm, 
he _____ books to films and 
sports  
a) is prefer    b) Prefer 
c) Prefers d) are Prefer 
 
19. Synonym of “Exhausted” 
a) Very hot   
b) Very Polluted 
c) Very Fresh  
d) Very tired 
 
20. Leave your bags at the 
gate. (Identify the type of 
Sentence) 
a)  Imperative  
b) Declarative 
c) Interrogative   
d) Exclamatory 
 
21.  A confectioner is a 
person who______ 
a) Sells tools   
b) Sells confetti 
c) Sells sweets  
d) Sells cloths 
 
22. Opposite of ‘Several’ 
a) Few  b) Many 
c) A lot  d) Some 
 

23. the sun you of  
             A          B     
must  stay  out  
   C      D           E 
a) ECADB b) ABCDE 
c) BDECA c) DECAB 
 
24.  Jhon is my ______ brother  
a) elder  b) bigger 
c) old   d) old 
 
25. Ashok _____ him 
yesterday 
a) meet  b) met  
c) will meet  d) is meeting 
 
26. Synonym of ‘Sufficient’ 
a) Infinite b) Adequate 
c) Merry d) Surplus 
 
27. A list of  books in a 
Library 
a) Monologue b) dialogue 
c) catalogue d) Dairy 
 
28.  Opposite of ‘Rise’ 
a) Smooth    b) Pride 
c) Rash  d) Fall 
 
29.  This is the boy ______ 
parents have died? 
a) Who  b) Whose 
c) Whom d) his 
 
30.  They doesn’t help the 
poor _____? 
a) did he  b) does he 
c) doesn’t he d) do he 

31.  gold is not glitters  
           A        B           C            
all that  
  D 
a) ABCD b) CDBA 
c) DABC d) DCBA 
 
32. The child _____ for two 
hours 
a) has been sleeping 
b) have been sleeping 
c) has slept 
d) will sleep 
 
33. Did you apply_______ this 
post? 
a) to   b) at 
c) of  d) for 
 
34. He is rich_______ he is not 
happy  
a) yet  b) though  
c) because  d) but 
 
35. Experience is the_______ 
teacher  
a) best  b) better  
c) good   d) great 
 
36.  _______a beautiful scene it 
is  
a) What  b) How  
c) Always  d) Never 
 
37. Gender of Lass  
a) Queen  b) Woman  
c) Dame  d) Lad 
 



 
 
 
 
 
 
 
 

Free Rms Mock Test 

38.  He bought apples _______ 
mangoes 
a) but  b) else 
c) and  d) or 
 
39. Ayush is stronger 
______Ankur.  
a) and   b) Than 
c) Then  d) Else 
 
40.  Ravi is fat ________Raju is 
thin. 
a) Or  b) but  
c) Still   d) And 
 
41. There is a tiger ______the 
cage.  
a) on  b) in 
c) for   d) with 
 
42.  She was blessed ______a 
son. 
a) At  b) from  
c) with  d) by 
 
43. I am ashamed ____you . 
a) on   b) for  
c) of   d) off 
 
44. The teacher came after 
____ hour. 
a) A  b) An 
c) The   d) None 
 
45.  Sachin is called ______one 
man team. 
a) A    b) An 
c) The  d) None 

46. Sunday is_____ holiday  
a) A  b) An  
c) The    d) None 
 
47.  Tendulkar is a ________ 
batsman  
a) Better b) Good 
c) Slow   d) Best 
 
48.  The Gangas is a________ 
river 
a) Pure  b) Holy  
c) Unholy  d) Big 
 
49. Dhoni is the ______ wicket 
keeper in the world  
a) Better b) Tall  
c) Good  d) Best 
 
50.  I bought mangoes _____ 
are very sweet 
a) It   b) They 
c) Those  d) These 
 

General Knowledge 

51.  A person is easily 
observing outside 
environment from his closed 
window. So, it is made up of 
a) Glass   
b) Iron sheet 
c) Wood  
d) Aluminum Sheet 
 

52. Which one of the 

following is used for light 

source? 

a) Cassette Player  

b) Electric mixer 

c) Rice cooker  

d) Table lamp 

 
53. The fumes of candle is a 

good example of _______ 

a) Liquid b)Solid 

c) Mixed d) Gas 
 

54. Our intestine is the 

habitat of which of the 

following organisms. 

a) Rats  b) Microbes 
c) Bees  d) Crabs 
 
55. “Pampas” is the 
grassland of _____ 
a) South America  
b) United Kingdom 
c) United states  
d) Africa 
 
56. Silk ; Insect ; Wool : _____ 
a) Sheep b) Plant 
c)Cotton d) Snake 
 
57. The fabric used in book 
binding. 
a) Coir  b) Cotton 
c) Calico d) Jute 
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58. We enjoy the beauty of 
nature through Which 
components of plant? 
a) Leaf  b) Flowers 
c) Roots  d) Stem 
 
59. What is the type of 
change in Atti – Patti plant? 
a) Natural change  
b) Artificial change 
c) Natural or Artificial 
change 
d) Both natural and artificial 
changes 
 
60. Day time is less during 
a) Winter season  

b) Summer 

c) Rainy season 

d) None 

 

61. One of the following is 

not a reason for scarcity of 

water 

a) Deforestation 

b) Lack of rains 

c) Drying of water bodies 

d) Heavy floods 

 

62. Long periods of less 

rainfall causes____ 

a) Floods b) Droughts 

c) Cyclones d) Monsoons 

 

63. The first country in the 
world to pay equal salary to 
men and women? 
a) Denmark b) Russia 
c) Iceland d) Sweden 
 

64. What will people do in 

drought hit areas? 

a) People migrate longer 

distances for water 

b) People stay back to get 

water 

c) Nothing will happen to 

people in drought hit areas 

d) People pray to god to get 

rains. 

 

65. 1 – Substances which do 

not allow electricity through 

them are called insulators. 

2 -  All the materials are 

insulators 

a) Both sentences are correct 

b) Sentence – 1 is wrong and 

sentence – 2 is correct 

c) Sentence – 1 & 2 are 

wrong 

d)  Sentence -1 is correct, 

sentence -2 is wrong 

 

 

 

 

66. What is the mean of 

motion for snake? 

a) Walk   

b) Run 

c) Crawl  

d) None of these  

 

67. Find the odd one out 

regarding viviparous animals 

a) Man   

b) Cow 

c) Sheep  

d) Garden lizard 

 

68. Match the following : 

1. Nose of the plant   

(  ) a. Resin 

2. Excretory material of a 

plant                  (   ) b. Sweat 

3. Excretory material of man 

                 ( ) c. Stomata 

a) 1-b;2-c;3-a  

b) 1-b,2-a,3-c 

c) 1-c,2-a,3-b  

d) 1-a, 2-b,3 –c 

 

69. This is not the character 

of living things 

a) Reproduction 

b) Giving light energy 

c) Respiration 

d) Excretion 
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70. One man is suffering 

from constipation, which 

component is less in his food 

a) Carbohydrates  

b) Proteins 

c) Fats   

d) Roughages 

 

71. Motion of earth around 

the sun is________ 

a) Translatory  

b) Rotatory 

c) Oscillatory  

d) Both A and B 

 

72. Pick up the correct 

sentence 

a) Kerosene is insoluble in 
water 
b) Oil is soluble in water 
c) Sand is completely soluble 
in water 
d) Dissolved substances are 
stones 
 

73. Which ancient dance 
style of India was called 
“Sadir”? 
a) Bharatnatyam  
b) Kathak 
c) Mohinipattam  
d) Odissi 
 

 

 

74. The coil of wire in an 

electric bulb is known as  

a) Element  

b) Filament 

c) Conducting wire  

d) None of these 

 

75. How many levels of 
courts are present in India? 
a) Three  b) Five 
c) Two  d) Four 
 
76. Who is considered the 
promoter of Bhakti 
movement in Bengal? 
a) Chaitanya b) Namdev 
c) Ramanand d) Ramanuj 
 
77. Which is the largest 
satellite in the solar system? 
a) Moon b) Miranda 
c) Titan  d) Ganymede 
 
78. Which territory of India 
was formerly known as black 
water before independence? 
a) Diu 
b) Allabet  and Khadibet 
c) Andaman and Nicobar 
islands 
d) Lakshadweep group 
 
 
 
 
 

79. If oil is mixed with water, 
how can you separate it? 
a) By sublimation  
b) By decantation 
c) By Sedimentation  
d) By filtration 
 
80. Which planet in the solar 
system is not a terrestrial 
(rocky) planet ? 
a) Mars  b) Saturn 
c) Venus d) Mercury 
 
81. GurunanakDev was born 
in 
a) 1449 AD b) 1499 AD 
c) 1469AD  d) 1453 AD 
 
82. Which was the major 
industry in the Mughal 
period ? 
a) Silk Cloth  
b) Brass Jewellery 
c) Cotton cloth  
d) Pearl roduction 
 
83. Who wrote Sarejahase 
acha ? 
a) Md.Iqbal  
b) Rabindranadh Tagore 
c) Mahatma Gandhi  
d) Chaitanya 
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84. i. Seawater is salty and is 

not fit for drinking 

ii. Water used by us in our 

daily life is not salty 

a) both sentences are false 

b) Both sentences are true 

c) Sentence (i) is true, 

sentence (ii)  is false 

d) Sentence (i) is false, 

Sentence (ii) is true 

 
85. When was the capital of 
Pakistan built? 
a) 1970s b) 1950s 
c) 1960s d) 1940s 
 
86. How did the 
Lakshadweep group of 
islands originate? 
a) Coral origin  
b) Volcanic origin 
c) Soil deposition  
d) None of these 
 
87. When was Pakistan got 
Independence 
a) 1957  b) 1942 
c) 1950  d) 1947 
 
88. Which country’s national 
flag has a picture of Dragon 
on it? 
a) Bhutan b) Nepal 
c) Myanmar d) Srilanka 
 

89. Which Harapan site is 
not locate in Gujarat? 
a) Surkotda b) Dholavira 
c) Lothal d) Aimabad 
 
90. Which planet is called the 
Red Planet ? 
a) Saturn b) Mars  
c) Neptune d) Venus 
 
91. The currency of Nepal is 
called 
a) Loti   
b) Birr 
c)Nepalese rupee  
d) Nepalese Taka 
 
92. The Samadhi of Guru 
gobindsingh is located in  __ 
a) Amritsar  
b) Ludhiana 
c) Nanded  
d) Anandpursqhib 
 
93. Where did Lord Buddha 
deliver his first sermon 
a) Sarnath  
b) Lumbini 
c) Bodh gaya  
d) Kushinagar 
 
 
94. How many countries are 
connected to the 
international border of 
Myanmar 
a) 5  b) 4  
c) 6  d) 7 

95. Which country shares the 
smallest land border with 
India? 
a) Myanmar  
b) Afghanistan  
c) Pakistan  
d) Nepal 
 
96. The watts for 1 Kilowatt 

a) 10  b) 100 

c) 1000  d)10,000 

 
97. Which country has made 
the worlds first all electric 
ship? 
a) China b) Japan 
c) South korea d) Australia 
 
98. Which city is the 
commercial capital of 
srilanka? 
a) Galle   
b) Kandy 
c) Colombo  
d) Mincomalee 
 
99. Which planet moves in 
opposite direction from 
other Planet move in 
opposite direction from 
other planets in the solar 
system? 
a) Mars  b) Neptune 
c) Uranus d) Saturn 
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100. What is the mirror used 

by a dental doctor? 

a) Concave mirror  

b) Convex mirror 

c) Plain mirror  

d) None of these 

 

Intelligence Test 

 
Directions (Qs. 101 – 106) 
In the following questions. 
Select the number(s)/ 
letters from the given 
options for completing the 
given options for 
completing the given 
series. 
101.  27, 28, 25, 25, 23, 22, 
21, ? 
a) 20  b) 21 
c) 19  d) 18 
 
102. 80, 63, 72, 72, 64, 81, 
56, ? 
a) 96   b) 98 
c) 89  d) 90 
 
103. 1, 4, 9, 16, ____ 
a) 25  b) 26 
c) 49  d) 36 
 
104. A, C, F, J, ___________ 
a) O  b) M 
c) K  d) L 
 
 

105. LAZ, NEX, PIV, ? 
a) SLS  b) QNS 
c) RMT  d) RMS 
 
106. –bbcaa-b caa-bc-a-bca 
a) bacab b) abbab 
c) abcba d) bcaab 
 
107. In a certain code 
LIBERATE is written as 
56403170, TRIBAL will be 
written in the same code as: 
a) 734615 b) 736415 
c) 136475 d) 034615 
 
108. In a certain language, 
(a) ‘FOR’ stands  for ‘old is 
gold’ (b) ‘ROT’ stands  for 
‘gold is pure’; (c) ‘ROM’ 
stands  for ‘gold is costly’. 
How will ‘pure old gold is 
costly’ be written? 
a) TFROM b) FOTRM 
c) FTORM d) TOMRF 
 
109. Word Relationship 
 Legs : Walking :: Ears : ? 
a) Hearing 
b) Smelling 
c) Seeing 
d) Speaking 
 
110. Alphabet Series 
J, K, M, P, ? 
a) S  b) R 
c) T  d) Q 
 
 

111. Number Series 
2, 6, 12, 20, 30, ? 
a) 40  b) 42 
c) 44  d) 56 
 
112. What would be the 
proper order of the 
following: 
1. Decameter      2. Meter    
3. Kilometer       4. Centimeter   
5. Milimeter 
a) 14325 b) 54123 
c) 54321 d) 54213 
 
Directions (Qs. 113 to 
117): In the questions 
given below one term is 
missing. Based on the 
relationship of the two 
given words/ numbers find 
the missing term from the 
given options. 
 
113. 2:4::3: 
a) 5    b) 6    
c) 8     d) 9 
 
114. Frequently : Always :: 
Selden:? 
a) Often b) Rarely 
c) Occasionally  d) Never 
 
115.  doctor :hospital :: 
teacher :? 
a) school b) office 
c) library d) lab 
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116.  BYDW : FVHT :: GQIO :? 
a) JLNP  b) OSTR  
c) KMOL  d) KNML 
 
117.  Which number will 
come in the place of question 
mark? 
25: 81:: 36:? 
a) 121   b) 93  
c) 65  d) 103 
 
Directions (Qs. 118 to 124) 
In each of the following 
questions there are four 
options three numbers/ 
words in these options, are 
alike in certain manner. 
Only one number/ word 
does not fit in. Choose the 
one which is different from 
the rest. 
118.   a) Tutor 

b) Principal  
c) Pupil   
d) Professor 

 
119.  a) Apple  

b) Mango 
c) Carrot  
d) Banana 

 
120.   a)SQUARE  
b)CIRCLE 
c) RECTANGLE 
d) CUBE 
 
 
 

121.  a) DOCTOR 
b) ENGINEER 
c) TEACHER  
d) TABLE 
 
122.  a) 24  
b) 90 
c) 54   
d) 36 
 
123.  a) CRICKET 
b) FOOTBALL 
c) HOCKEY  
d) COOKING 
 
124. a) TIGER 
 b) LION 
c) ELEPHANT 
d) ROSE 
 
125. ANALOGY :- MINUTE : 
HOUR :: SECOND :____ 
A)MILLISECOND  
B)DAY  
C)WEEK   
D)MONTH 
 
126. ANALOGY :-  RIVER : 
WATER :: ROAD:___ 
a) VEHICLE 
b) TRAFFIC 
c) PATH 
d) JOURNEY 
 
 
 
 
 

 
127. If ‘+’ stands for 
multiplication, ‘ ’ stands for 
addition,  ‘ ’ stands for 
subtraction and ‘   stands 
for division, then what will 
be the result of the following 
equation? 

             
a) 7  b) 0 
c) 11  d) 15 
 
128. ANALOGY:- PEN 
:WRITE :: KNIFE :___ 
a) CUT        b) PAINT 
c) MEASURE      d) CARVE 
 
129. BIRD: NEST :: 
SPIDER:____ 
a) WEB         b) HOLE 
c)HIVE      d) BURROW 
 
Directions (Qs. 130 & 132) 
In the following questions 
select the right option 
which indicates the correct 
code for the word or letter 
given in the question 
 
130. If 'w' is coded as 'a’, 's' 
as 'r' and 'r' as ‘w’ how will 
'answer' be written? 
a) wisacs b) anracw 
c) anrwas d) wnraes 
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131. In certain military code, 
SYSTEM is written as 
SYSMET, and NEARER as 
AENRER, what will be the 
code for FRACTION? 
a) CRAFNOIT  
b) FRACITNO 
c) CARFNOIT  
d) FRACNOIT 
 
132. A and B are two 
brother. C is sister of D. D is 
sister of E. E is son of A. Who 
is D's uncle? 
a) D   b) E          
c) B  d) C 
 
Directions (Qs.133-135) In 
each of the following series 
determine the order of the 
letters. Then from the 
given options select the 
one which will complete 
the given series 
 
133. 121, 144, 169, 196,___ 
a) 216    b) 225  
c)245    d) 256 
 
134. Z, X, U, Q,____ 
a) M  b) IO   
c) N      d) L 
 
135. D, G, K, P,__ 
a) U  b) S   
c)T     d) V 
 

136. Series: A, C, F, H, K, 
M,____ 
a) N  b) Y       
c) P  d) M 
 
137. Rahul started walking 
straight towards East. He 
walks a certain distance and 
then turns towards his right 
and walks again. In which 
direction is he heading now? 
a) North b) East 
c) South d) West 
 
138. Series: 10, 100, 200, 
310,_______ 
a) 420  b) 410    
c) 430     d) 400 
 
139. In a certain code 
language, COMPUTER is 
coded as RFUVQNPC. How 
will MEDICINE is coded 
as_____ 
a) MFEDJJOE b) EOJDEJFM 
c)  MFEJDJOE d) EOJDJEFM 
 
140. Series: SCD, TEF, UGH, 
______, WKL 
a) CMN  b) UJI    
c) VIJ   d) IJT 
 
141. Series: 20, 30, 42,____  
a) 64  b) 56     
c) 62    d) 54 
 

142. If +               
      then         
      
a) 9.5  b) 0     
c) – 2   d) 24 
 
143. In a certain code 
MENTION is written as 
LNEITNO, How is PATTERN 
written in the code? 
a) APTTREM b) PTAETNR 
c) OTAETNR d) OTAETRN 
 
144. In a certain code FORGE 
is written as FPTJI, how is 
CULPRIT that code? 
a) CSJNPGR b) CVMQSTU 
c) CVNSVNZ d) CXOSULW 
 
145. If in a certain language 
CALCUTTA is coded as 
GEPGYXXE,  which word 
would be coded as FSQFCE? 
a) BOMBYA b) BOMBAY 
c) BOMBYAB d) BOBYAB 
 
146. If PAINT is coded as 
74128 and EXCEL is coded as 
93596, then what is the code 
for ACCEPT? 
a) 455978 b) 547978 
c) 554978 d) 735961 
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147. If PALAM could be 
given to the code number 43, 
what code number can be 
given to SANTACRUZ? 
a) 75  b) 85 
c) 120  d) 123 
 
148. If in a certain language 
CARROM is coded as 
BZQQNL, which word is 
coded as HOUSE? 
a) IPVTF b) GNTRD 
c) INVRF d) GPTID 
 
149.  In a certain language, 
NEOMAN is coded as 
OGRQFT, which word is 
coded as ZKCLUP? 
a) YJBKTO b) XIAJSN 
c) YIZHPJ d) YIAQKJ 
 
150. In a certain language 
MACHINE is coded as 
LBBIHOD, which would be 
coded as SLTMFNB? 
a) RSKLEMA  
b) TKULGMC 
c) RMSNEOA  
d) TMUNGOC. 
 

MATHEMATICS 

 
 151. The sum of all the 
factors of 48 is____ 
a) 100  b) 96  
c) 108   d) 124 
 

152. Which of the following 
is an 
Expanded form of 320458? 
a) 00000+20000+400+50+8 
b) 30000+2000 +400+.50-18 
c) 30000 + 20000 + 400 +50 
+ 8 
d) None of these 
 
153. Find the amount that is 
to be paid back on 
Rs.15000/- at 8% per annum 

after 
 

 
 years simple interest. 

a) Rs.15,900/- 
b) Rs.18,900/- 
c) Rs.21,600/-  
d) Rs.15,920/- 
 
154. The cost of 20 folders is 
Rs.70/- then find the cost of 
each folder. 
a) Rs.3.8/- b) Rs.2.5/- 
c) Rs.3.5/- d) Rs.2.1/- 
 
155. The sum of greatest two 
digit prime and smallest 
whole number is 
a) 98  b) 99 
c) 97   d) 100 
 
156. How many glasses of 
250 ml are required to fill 
up4.5  of milk? 
a) 24  b) 36 
c) 20   d) 18 
 
 

157. Find the value of 

           3
 

 
 of 12.5% of 1200. 

a)600  b) 320 
c) 450  d)  480 
 
158. The difference between 
the place value and face 
value of 6 in the number. 
78649 is 
a) 66  b) 606 
c) 594  d) 0 
 
159. Anu types of 600 words 
in half an hour, then how 
many words will be type in 
12 minutes 
a) 240  b) 180 
c) 160  d) 120 
 
 160.  A car starts from Delhi 
at 10:15AM and reached 
Mumbai at 11:30PM next 
day. Then how many hours it 
has taken to reach 
Mumbai? 
a) 40hrs.  
b) 37hrs 15mine 
c) 28hrs 40mins  
d) None of these. 
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161. A person bought dozen 
oranges 
at Rs.40/- per dozen and sold 
them at Rs.4/- per orange. 
What is the gain or loss 
percent. 
a) 20%  b 36% 
c) 32%  d) 24% 
 
162. Find the smallest 
number that is divisible by 
12, 16 and 18 exactly. 
a) 96  b) 120 
c) 108   d) 144 
 

163. 3 
 

 
  % of Rs.4800/- is 

a) Rs.114/- b) Rs.128/- 
c) Rs.156/- d) Rs.240/- 
 
164. Simplify: - 
                
a) 5.2  b) 4.8 
c) 7.8  d) 3.4 
 
165. The difference of two 
numbers is 1896. If one 
number is twice the other 
find the big number. 
a) 3024  b) 2844 
c) 3792  d) 2400 
 
 
 
 
 
 
 

166. 14 men can do a piece 
of work in 20 days. Then how 
many more men are required 
to finish the same work in 
14days? 
a) 6 men  
b) 4 men  
c) 8 men   
d) None of these 
 
167. Which of the following 
is a factor of 854? 
a) 14  b) 12 
c) 31  d) 24 
168. Two numbers are in the 
ratio of 5:7. If the first 
number is 30 then find the 
second number. 
a) 54  b) 39 
c) 63  d) 42 
 
169. 0.05% of 200% of 600 = 
a) 6  b) 0.6 
c) 0.06  d) 60 
 
170. What is the next term in 
given below series? 
   4, 9, 14, 19,_______ 
a) 18  b) 20 
c) 24  d) 30 
 
171. Find the cost of fencing 
a square field of side 8.4m 
at a rate of 12 perm. 
a) Rs.284.2/- b) Rs.403.2/- 
c) Rs.396.4/- d) Rs.320.4/- 
 

172. How many edges of 
does cube 
have? 
a) 8  b) 6 
c) 12  d) 10 
 
173. How can we represent 
8 parts out of 15 parts? 

a) 
  

 
  b) 

 

  
 

c)      d) 
 

  
 

 
174. What is the value of   

   
 

 
         

a) 20  b) 18 
c) 16  d) 12 
 
175. The sum of first three 
common multiples of 18 and 
30 is 
a) 540  b) 270  
c) 190  d) 120 

176. The LCM of 
 

 
 
 

 
 
 

  
 is 

a) 
 

  
  b) 18 

c) 20  d) 
 

  
 

 
177. The weight of 1 Guava 
is 250gms and 1 melon is 
800gm. What is the weight of 
4 melons and 12 Guavas 
together in grams? 
a) 4800gm b) 5400gm 
c) 7200gm d) 6200gm 
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178. The average of four 
consecutive numbers is 47.5 
then find the greatest 
number among them. 
a) 49  b) 47 
c) 52   d) 60 
 
179.  In a class of 80 
students.42 are girls then 
find the percentage of boys. 

a) 36%  b)   
 

 
   

c)   
 

 
  d)   

 

 
  

 
180. A man buys a table at 
Rs. 2400/- and spent 
Rs.200/- for transportation. 
If he sold the table at 
Rs.3000/- then find his profit 
percent. 

a)   
 

 
  b) 25% 

c) 15%  d) 12
 

 
  

 
181. Which of the following 
is equal to 0? 
a) +12-12  
b) – 12 – 12  
c) 12+12 12  
d) None of these 
 
182. Which among the 
following 
is divisible by 12? 
a) 497653 b) 486794 
c) 789653  d) 791640 
 

183. In a division sum, the 
divisor is 24 and Quotient is 
72 and remainder is 16 then 
find the dividend. 
a) 1744  b) 1680 
c) 1728  d) 1924 
 
184. The perimeter of a 
square park is 60m then find 
its area. 
a)15m²  b)225m2 
c) 125m2 d) 75m² 
 
185. The population of a 
village is 2,40,800 at present. 
If its population increased by 
15% for next year. What is 
the new population ? 
a) 3,02,560 b) 276,920 
c) 2,56,940 d) 3,40,600 
 
186. The product of two 
numbers is 3456. If one 
number is 96 then find the 
other. 
a) 48  b) 36  
c) 24   d) 30 
 
187. The simple interest 
earned on Rs. 1800/- at 12% 
Per annum for 4 years is_____ 
a) Rs.864/-   
b) Rs.484/- 
c) Rs.960/-  
d) None of these. 
 
 

188. The Sum of 33, 0.33, 
3.3, 333, 3.33 is___ 
a) 489.66 b) 372.96 
c) 512.34 d) 343.56 
 
189. The daily wages of a 
worker. are Rs.300/- then 
how much did he earn in the 
month of January? 
a) Rs.9000/-  
b) Rs.9300/- 
c) Rs.7200/-  
d) Rs.10800/-  
 
190. The greatest number 
that divides 1250 and 1680 
exactly is_____ 
a) 12  b) 10 
c) 15  d) 14 
 
191. The volume of a cube 
whose edge is 4.5m is____ 
a) 121.7m3   
b) 66.275m3 
c) 109.36m3   
d) 91.125m3 
 
192. Find the value of    If  
   2864 –             
a) 241  b) 205 
c) 199  d) 192 
 
193. The sum of even 
numbers between 15 and 25 
is 
a) 84  b) 100 
c) 140  d) 120 
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194. Find the cost of 14 
lemons if each lemon is  
Rs. 5.20/- . 
a) Rs.48.30/-    b) Rs.72.80/- 
c) Rs.64.50/- d) Rs.84.40/- 
 
195. Simplify: 

 
 

 
  

 

 
   

 

 
 

a)  
 

 
    b)  

 

 
 

c)  
 

 
  d)  

 

 
 

 
196. For what value of *; the 
number 78 * 456 is divisible 
by 9? 
a) 6  b) 2 
c) 4  d) 0 
 
197. Convert 1  etre into m3. 
a) 0.01  b) 0.001 
c) 0.1  d) 1000 
 
198. Roman numeral for 500 
is 
a) C  b) D 
c) L  d) M 
 
199. The smallest number 
that can be formed by using 
the digits – 
7, 0, 6, 4, 2, is  
a) 46720 b) 26047 
c) 24067 d) 20467 
 
 
 

200. The successor of 
smallest prime number is 
a) 3  b) 1 
c) 0  d) 2 
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